Kangaroo Evolution with a focus on tree-kangaroos
(by L.Kazmeier)
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Possum ancestor splits from kangaroo line
Possums start to radiate (split up) into species
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tree-kangaroos splits from the line of the modemn kangaroos,
which starts to radiate into the present day set of species
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8 MBP The pademelon line splits from the rock-wallaby/
tree-kangaroo line

7.5 MBP The tree-kangarco ancestor splits from the line
that radiates into the present day set of rock-
wallaby species

Over the last 7 million years the tree-kangaroos radiate into

the present day set of species




